


BASORFIX

& BASORFIX
%0 41182 -=E. basor
BELECTARIC
41X21
e A W W 2
41%21X1,5 15 [1,44/022/0,79]004|1,86]0,11| 26366 | 126 | - 1,35 Be Y
41%21X25 25 |2,14/033]1,08/0,06/273/0,16| 20235 | 171 | 2023 | 180 A
INISIER:
+i1,\< 25x11 {]
L=3m(10f) 5Eg
41
41X41
e A W W -
LU N R | kgm | REE | kg | s |
41%41X1,5 15 [195/030(2,09]012|2,82(017| 26365 | 167 | - 1,79 N
e
41%41X25 25 |3,13(048|3,16/0,19|454|027| 20233 | 253 | 2023 | 266 =
41¥41X25 D13 25 |3,13/048/3,16/0,19|454 /027 27388 | 253 454 0
25x11(x13)
+ii,
= rHB 1
L=3m(10f) B
M
41X41X2-3S
e A W Wy 2
o w w0 o v EEANTRENTE (| -
41X41X2-35 | 2 [220]034]227 014308019 |217313] 202 |217312] 2217 —
+i [
L 27x11 O D
L=3m(10ft) v
41X82
e A W W 2
m o w o o o o ANNCRNCARTE .| T
41X82X2,5 | 25 |637]098|949]057[9,11)055] - | 505 | 28673 | 531 g, L d I,
3 |
i< 7 ‘ejtv
25x11
-
T

L=3m(10f)

A

1
)
/I
]

50

(D)
25




BASORFIX
A 41/82 . Dbasor

BELECTARIC

K82ME

4182H

A

4182CR 4182TE 4182A 4182B

4182C 4182CD 4182D 4182E

~<P Sn ?5,'5;1-.,}’%‘}

4182G 41821 sB41 SBL41 4182H

TF41 TM41 TAD TEP

5

BASORFIX



BASORFIX

K41

BASORFIX
41/82

SE_Dbasor

BELECTARIC

Qreac  Pap
kg Nm REE. | kefud

K41 | 700 | 40 | 5622 | 083

@ & 2xDING33 MI0X30 (010320 ) + 2.x TWAL M10 (0/1071)

K82

108

80

R
‘ 40

120

Weac  Pap
CRRRLLIN  REE | kg |

K82 | 1100 | 40 | 2574 | 144

@ ﬁ 4 x DIN933 M10X30 (0/0320) + 4 x TM41 M10 (0/1071)

IQreac

108

n
Wﬁ
¢
- \_50 ‘25‘

93

¢
MEEE
180 JA* '
K82ME
Weac  Pap
kg Nm REE. | kg/ud
K82ME | 1100 | 40 [ 2020 | 157 e 2
2x@ 4 DING33 MI0X30 (0/0320) + 4 x TM41 M10 (0/1071) Toda— e
4/50 x B3 (218827 - GC) 20X G e
Ix + + A 2xDIN33 ML0X30 (0/0320) + 2 X THAL M10 (0L071)
+2x DIN33 MB120 (0/0318) + 2 x DIN6923 M8 (0/0348)
2 @ X 4 xDING33 MX20 (010318) + 4 x DING923 M (010348)
SBL41
Qreac Pap e e
kg N-m mm REF. kg/m mm REF. kg/ud
B4l | 600 | 40 | 4 [omos8| 040 | 4 | 26472 | 044  Jorese u
@ ~ 2xDING33 MLOX30 (010320) + 2 x TWMAL M10 (0/107) o JTU e
@ A 25083 (28827) + &?xn -
— 25X11
1 o] |24
el,aa] [ | 20
132




BASORFIX
) 4182 . Dboasor

KA41

BELECTARIC

Weac  Pap

k s [IERIET
KA41 | 1000 | 40 | 26475 | 082

@ ~ 2xDIN933 M10K30 (010320) + 2 x TMAL M10 (0/1071)

@ & 250xB3 (28827)

Qreac  Pap
LR e | kgud |

sB41 | 700 | 40 | 26471 | 051 T

@ ﬁ 2 x DIN933 M10X30 (0/0320) + 2 x TM41 M10 (0/1071)

104
50 25|
T

@ & 250483 (28827) ' i s 25x11
9 pr—C] 25X11
4] |¢r=
4l a4 ] | J2o "
132
4182CR
Reducc Reducc  Pap )
z y (B REF | kg/ud gey
4182R | 0% | o% | 40 | 26473 | 056 @ o |
¥ —
o 9 g
@ 5 xDIN933 M10X30 (0/0320) + 5 x TWAL M10 (0/1071) o o
o 195 T
@ A 5/50 % B3 (2/8827) a5 )

¥
+%

L]l [ e Eje Z

BASORFIX



BASORFIX

4182TE

BASORFIX
41/82

SE_Dbasor

BELECTARIC

Reducc Reducc  Pap
z y N-m REF. kg/ud

4182TE | 0% | 0% | 40 | 26474 | 051

@ )4 x DIN933 M10X30 (0/0320) + 4 x TM41 M10 (0/1071)

@ A 4/50xB3 (2/8827)

195 44 o £
R e R jey |
g [en} ;‘
i ¥
25X11 0 ¥
o - 4
n
0 K
¥
BIEE N P Y NeET w
51 LN
<
. ¥
BeZ —# I H :
% [ 185 ol
127 - 9

4182CV

Qeac  Pap
O R | kg N
| 500 | 20 | 2477 | 051 @Q — s
@ EE:’—‘:31M10)(20
42 46
EL‘
40
o
4182A
Reduce ~ Pap
z N-m REF. ke/ud B0y
41824 | 20% | 40 | 2311 | 023 1. HE
@ %= ¥
=
@ A 4 xDIN933 MI0X30 (0/0320) + 4 x TMIA1 M10 (0/107) 190 L
— C3) F s0xe3 cme2n)
Eje z
4182B
Weace  Pap 12
"SR R | ko w6 2 .
41828 | 350 | 40 | 2312 | 023
¥ | @
@ A~ 4xDIN933 M10X30 (0/0320) + 4 x TM41 M10 (0/1071) g
“los,

@  450xB3 (218827)




BASORFIX
41182 . Dboasor

BELECTARIC

4182C
o .
e No R . e —
4182¢ | 350 | 40 | 26313 | o1 \Q &\@wﬂ
@ A 2xDINS33 M10X30 (00320 ) + 2 x TM41 M10 (0/1071)  —
40
13
@ /’ 2150 x B3 (2/8827) @49’
dE
|21 ]
50
4182CD
Wreace , :
« EEEETE Pu:
418200 | 700 | 2m27 | o017

50

102

o

.

8
e

@ ) 3 x DIN933 M10X30 (0/0320) + 3 x TM41 M10 (0/1071)

@ & 3/50xB3 (28827) —

Qeacc  Pap

kg N-m REF. | kg/ud f’eac
41820 | 1050 | 40 | 26314 | 036 ] -
> F—
@ ~ 4xDING33 MI0X30 (010320) + 4 x TMA1 M10 (0/1071) g oY ol
h 2
@ A 45033 (28827) °
% =
[o—6—0

BASORFIX



BASORFIX

BASORFIX
41/82 -=E. Dasor

BELECTARIC

4182E
Qreacc  Pap
o EEEEICTH s
4182F | 700 | 40 | 26315 | 025 7,—‘ os2
@ A 3% DIN933 M10X30 (010320) + 3 X TMAL M10 (0/1071) F 2

o
21

L
@ A 25083 (28827) > | o e

@

40

20
N
3
i
N}
S

lQre.ac

4182F

T
« v TR

4182F | 700 | 40 | 26316 | 035

87

@ A 34 DIN933 M10X30 (010320) + 3/4 x TM41 MLO (0/1071)

@ A 3/4xB3 (218827)

40

\ Qreac

HE

4182G
Qreacc Pap GC
U REE | kgud | -
41826 | 250 | 40 | 28317 | ol P 2
@ A~ 2xDIN933 ML0X30 (0/0320) + 2 x T4 M10 (0/1071)
@ A 2/100xB3 (218827) " o
T T
? ”l 0
4eac
1

10



BASORFIX
4 41/82

4182H

4182H

Qreacc

=
« v TR

| 80 | 40 | 26948 | 072

@ A 45083 (2/8827)

4182l

41821

([E3) A 0moss w100 003200+ 4 xTHeL W10 (1071

Redce
N REE | kgud |

| 0% | 2;mon | 062

@ A 4150 x B3 (2/8827)

BFT

BFT 1/2"
BFT 3/4"
BFT 1"
BFT 1 1/4"
BFT 1 1/2"
BFT 2"
BFT 2 1/2"
BFT 3"
BFT 4"

Dn

mm

21,3
25,4-26,9
328334
413424
47,6-48 3

60,3
69,9-73,0
84,0-88,9

111,1-1153

@ )4 x DIN933 M10X30 (0/0320) + 4 x TM41 M10 (0/1071)

¢
LU REE | kgud |
15 | 2/14642 | 0,06
15 | 2/14643 | 0,07
15 | 2/14644 | 0,08

2 2/14645 | 0,09

2 2/14646 | 0,10
25 | 214647 | 012
25 | 214648 | 014
25 | 214649 | 016
25 | 214650 | 0,20

. Dasor

BELECTARIC

QY
Y
Jpcap o O
T
25,5 43 48 17,5
8
M10x20
146
h ”{
%I EQ P> Ol
LHJ 25x11

@
200

1

BASORFIX



BASORFIX

BASORFIX
41/82

SE_Dbasor

BELECTARIC

_ %)
mem REF, o7 o [ Y
5 u
750 | 4 | 28332 | 019 g Lo
—————— a
o
o
W ]
50
104
PS0OS
B h ¢ g
mm inch mm inch  mm & &
PS0S 60X140X5 60 [213| 140 [5127| 5 | 27082 | 034
PS0S 80X180X8 80 (3177 180 | 77 | 8 | 21131 | 092
T
@ ®"/&
B Ale
PSOM
¢
@
LU REE | kg | “
PSOM 200X200X5 5 | 21155 | 160 S
= - PSOM 200X200X10 10 | 20245 | 320 ~
He ®
@ 16 EJ_L
200
TF41
TF41 | 25627 | 001

41

12




TM41

BASORFIX
41/82

SE_Dbasor

BELECTARIC

e  QOtrac Qcort Pap EZ GC i316
U O O TN REF. | kg/ud | REF. | kg/ud EGARNTTN
TM4IME | 6 | 500 | 100 | 35 |0/0427| 003 |2/8225) 003 | - | -
TM4IM8 | 6 | 600 | 240 | 84 |0/0455| 0,03 |0/1070| 0,03 |0/1072| 0,03
TM4IMI0 | 8 | 700 | 350 | 17 |0/0336| 0,04 |0/1071| 0,04 |0/0970| 0,04
-
TAD
e Qtrac  Qcort  Pap 25
LU A L REF | glud ! v J
TAD M8 6 | 600 | 240 | 84 | 004% | 003
TAD M10 8 | 700 | 350 | 17 | 255543 | 003
34,5
&
TEP
e Qtrac  Qcort  Pap
o ke kg e IEERN TN
TEP M10X30 8 | 700 | 350 | 17 | 00907 | 0,10
-

B06 | BASORFIX

13

BASORFIX



BASORFIX

ESORFIX -SE. basor

BELECTARIC

RA/CT
SR s | oc | "
LT N G Sl REF. | kg/m | REE | kg/m | [ } I;ex
RA35 3 | 14| 15| 15|09 028|100 20237 | 079 | 2/0238 | 0,87 C JEeY
RA50 50 | 14 | 30 | 15| 11 | 030|168 | 20239 | 099 | 2/0240 | 1,09
CT40 40 | 20 | 20 | 15 | 1,25 | 065 | 1,63 | 2/4471 | 0,99 | 2/0246 | 1,09 D |
CT40 40 | 20 | 20 | 15 | 125|065 | 1,63 - = - -
CT20 20 | 10 | 10 | 1,0 | 038 | 0,09 | 0,25 | 2/0242 | 0,34 - - ?
2 o J
L=2-3m(656-101) A
25x8,5
+i[>= U/
RA/ CT
C
=5 —E?eeyx
SN
Ora
15x6,5 Oij
[
0
0
ME
e
cT20
JURA
B —
W ReF | g | REE | kgud | 2575

JURA 35
JURA 50

28
40

21122
2/1124

0,07 | 2/1123 | 0,08
011 | 2/3473 | 0,12

192

50

23

AW
5
m@@@C}\

RN s | oc |

C-SV0 | 52 | 20 | 2 [2mi01 ] 1,20 | 27436 | 132 8
o} ®
& o
L=3m(l0f) % M6, M8 g ’

20x9

14



BASORFIX
¥

SE_Dbasor

BELECTARIC

OBP /0BC/OAP/OAC
e B H
mm REE. | kg/m S
o 0BP 1| 35 | 7 | 2048 | 037 5
0BC 1 |35 | 7 | 27214 | 041 N
0AP 15 | 35 | 14 | 2025 | 069 YUt
0AC 15| 35 | 14 | 27227 | 073 U
) W 156 0
L=2m(6,7ft) O a‘l
OR
B H L 15
mm inch mm inch m ft I
OR 2M 35 (138 15| 35| 2 | 66 | 20805 | 040 ]'—'[
OR 3M 35 (138 15| 35 | 3 | 10 | 20806 | 040

15

BASORFIX



BASORFIX

BASORFIX
‘ gR == D3sS0or

oL BELECTARIC

A B W D d
mm mm mm mm mm

SE 15-26 77 45 50 15-26 10 2/7282

SE 26-38 92 60 60 26-38 12 2/7283

SE 36-52 105 60 75 36-52 12 2/7284

SE 50-75 126 60 95 50-75 12 2/7285

SE 75-100 200 80 150 | 75-100 15 27286

SE 100-135 225 85 175 ]100-135| 15 27287 [ S . i i L &' oy ®
SE 135-170 260 90 210 |135-170| 15 2/7288 [ ]

w
N | . 120°C A
ross 3/ oK I~
UNE-EN 61537
TRIPLE
A B W D d RM PAFV
mm mm mm mm mm kN 5 REF.

TRIPLE 27-38 180 75 125 | 3X27-38 15 359 v 2/7289

TRIPLE 38-51 195 80 145 | 3X 3851 15 398 Y 27290

TRIPLE 51-69 220 85 170 | 3X51-69 15 69,9 v 27291

TRIPLE 69-90 252 920 215 | 3X69-90 15 56,7 v 27292

TRIPLE 90-118 321 100 270 | 3X90-118 15 54,3 v 2/7293

TRIPLE 118-150 400 110 340 |3X118150| 15 543 v 2/7294 ®9 @

w
A

w36/ okl b

UNE-EN 61537

CERTIFIED

A B H W D i RM PAFV

mm mm  mm mm mm mm kN __| REF.
IM 3X12-32 180 | 50 | 50 | 148 | 1232 | 14 | 05| v | 27295
IM 4X32-48 345 | 50 | 50 | 170 | 3248 | 15 | 295 | ¥ | 2729

®2>
[l | [l [
w

A

CERTIFIED

120°C
Laoc -* P
C VI

UNE-EN 61537

L

mHs/ 3/ oK

16



I;?ESORFIX -=E.basor

BELECTARIC

DIN 976 & DIN 934

i304 VR min VR max
REF. kg/ud SE 15-26 M8x85 M8x85
DIN976 M8X85 2/10246 | 0,03 SE 26-38 M10x100 M10x100
DIN976 M10X100 2/10247 | 0,05 SE 3652 M10x100 M10x100
DIN976 M10X150 2/10248 | 0,07 SE50-75 M10x100 M10x150
DIN976 M12X150 210249 | 0,13 SE 75-100 M12x150 M12x150
DIN976 M12X200 210250 | 0,17 SE 100-135 M12x150 M12x200
DIN976 M12X250 2/10251 | 021 SE 135170 M12x200 M12x250
DIN976 M12X360 2/10252 | 0,30 TRIPLE 27-38 M12x150 M12x150
DIN976 TRIPLE 38-51 M12x150 M12x200
- DIN934 M8 0/0344 | 001 TRIPLE 51-69 M12x150 M12x200
Q DIN934 M10 0/0343 | 0,01 TRIPLE 69-90 M12x200 M12x250
v DIN934 M12 0/0347 | 0,01 TRIPLE 90-118 M12x250 M12x360
TRIPLE 118-150 M12x250 M12x360
DIN934 IM 3X12-32 M12x150 M12x150
IM 4X32-48 M12x200 M12x200
SE41
Bmax e
UUNMUNN  REF | kg |

SE416-12 612 | 15 | 27352 | 003

SE41 12-16 1216 | 15 | 27353 | 003

SE41 16-20 1620 | 15 | 27354 | 004

SE41 20-24 2024 | 15 | 277385 | 0,04

SE41 24-28 2428 | 15 | 277386 | 0,05

SE41 28-32 2832 | 15 | 277357 | 006

SE41 32-36 3236 | 15 | 27358 | 007

SE41 63-40 3640 | 15 | 27359 | 008

SE41 40-44 4044 | 15 | 277360 | 0,11

SE4144-48 4448 | 15 | 27361 | 012

SE41 48-52 4852 | 15 | 27362 | 014

SE4152:56 5256 | 15 | 277363 | 016

SE41 56-60 5660 | 15 | 277364 | 0,18

SE41 60-64 60-64 | 15 | 277365 | 0,20

SE41 64-70 64-70 | 15 | 277366 | 022

SE4170-76 7076 | 15 | 277367 | 024

SE41 76-82 7682 | 15 | 277368 | 025

SE4182-88 8288 | 15 | 27369 | 02

SE41 88-94 8894 | 15 | 27370 | 028

SE41 94-100 94100 | 15 | 277371 | 0,30

17

BASORFIX



BASORFIX

BASORFIX
.

SE_Dbasor

BELECTRIC

GV2
DIN933 M8x50
REF. kg/ud DIN 934 M8
ov2 | 211501 | 0,15
2 wsamw0 © s
o
32,5 9
O
$10,5
95 Kg
GVV2
| REE_ | kg/ud | -
Gv2 | 27073 | 030
2 wBam0 s

200 Kg 95Kg 80 Kg

200 Kg

DIN934 M8
ﬂﬂ O ]:B/DIN933 M8x50

8
®10,5

BRP

BRP

Emax
mm
5

Qreac
o« IEANITE
| 1000 | 25624 | 017

§ M10

Emax

40
$§8
L

18



?ﬁSORFIX -=E. Dasor

BELECTARIC

BCA

Emax Pap H F

\ mm Nm mm M10

BCA 41X41 20 17,5 90 2/8809 | 0,39 % %
2/8810 | 042 .

BCA 41X82 20 17,5 130

‘ Emax

AL GS i430
| REE | kgm | REE | kgud [EEETANMENTT

| 23461 | 004 | 21201 | o011 | 23462 | 010

BVL

H
> mm m DIN933 M10X30

BVL41 60 | 211230 | 050 DING34 M10

BVL82 100 | 2/11231 | 0,63 %

BVL41

BVL82 BVLAL +41X41 BVL82 + 41X82

19

BASORFIX



BASORFIX

BASORFIX
I

SE_Dbasor

BELECTRIC

DIN976 & MVR
Qrac ‘
« IEEEI O
DIN976 M6X1000 400 | o678 | 032 ‘
DIN976 M8X1000 800 | 23397 | 035
DIN976 M10X1000 1400 | 255535 | 059
DIN976 M12X1000 2500 | 206502 | 0,87
MVR M6 206323 | 0,03
DIN976 MVR M8 204462 | 0,04
.9
(=
MVR MVR
SBL
GS GC .
| R | kgud | REF | kghd | jﬁ
sBL | 20351 | 011 | 21361 | 012 I
M8 & M10 h [kg
—— “25x9 m&
R, 5
'\i
k JETIR
36
SBC
Qreac 1 Qreac 2 GS GC 3 Qe 5
TS R | kgud | REE | kgud } S
SBC | 40 | 40 | 20352 | 011 | 20362 | 0,12 3
s 18
% M8 & M10 w‘ — —BL
70 259
. =
SBZ
o a—
< ke REE. | kgud | REE | kyud || <
$BZ | 35 | 20354 | 011 | 20364 | 012 gﬁ .
lsl
% M8 & M10
’\I
o
qﬁ*/@
36
\- -




BASORFIX
EA

DIN933 / DIN912 / 1SO7380

DINé923

. Dasor

BELECTARIC

DIN934

DIN125

DIN9021

WM WE P M L H i304
ul  ud Nm mm mm mm m (00N REFE kg/ud
DIN933 M10X30 | 100 | 100 | 35 | 10 | 30 | 6,6 |00512| 0,03 | 0/0320| 0,03
DIN933 M10X20 | 100 | 100 | 35 | 10 | 20 | 6,6 | 0/0665 | 0,03 | 0/0933 | 0,03
DIN933 M8X55 | 100 | 100 | 15 | 8 | 55 | 54 | 000736 0,03
DING33M8X25 | 100 | 100 | 15 | 8 | 25 | 54 |00310| 003 | - | -
DING33M8X20 | 100 | 100 | 15 | 8 | 20 [ 54| - | - |0W0318| 0,03
DING33M6X25 | 100 | 100 | 8 | 6 | 25 | 41 |2/5545| 0,02 |0/0330 | 0,02
DING33MEX20 | 100 | 100 | 8 | 6 | 20 | 41 |o0727| 002 | - | -
DIN912M10X30 | 100 | 100 | 35 | 10 | 30 | 10 | - | - |0/0984| 003
DING12M8X70 | 100 | 100 | 15 | 8 | 70 | 8 |0/0930| 0,05 |0/0939 | 0,05
DING12M8X55 | 100 | 100 | 15 | 8 | 55 | 8 |0/0940| 0,04 |0/0941 | 0,04
IS07380 M8X30 | 100 | 100 | 15 | 8 | 30 | 44 | - 01117 | 0,03
IS07380M6X25 | 100 | 100 | 8 | 6 | 25 | 33 |0/1064| 0,02
Det A H i304
mn mm mn EESITTN REE kghud
DING923 M6 M6 | 14 | 10 000337 | 001 |0/0342| 0,01
DING923 M8 Mg | 18 | 13 000338 | 0,01 |0/0348 | 0,01
¢ A H A 304
mm o [EEARETN REE kgud
DIN934 M6 M6 | 10 | 48 |o0710] 0,01 0,01
DIN934 M8 M8 | 13 | 62 |0/0339| 0,01 |0/0344 | 0,01
DIN934 M10 MI0 | 17 | 7,7 |0/0340| 0,01 |0/0343| 0,01
DIN934 M12 M2 | 19 | 97 000347 | 0,01
Dint Dext e i304
mm mm  mm m (70N REF.  kg/ud
DIN125 M6 64 | 12 | 16 [oo711] 001 0,01
DIN125 M8 84 | 16 | 16 00292 001 |0/0299 | 0,01
DIN125 M10 105 | 20 | 2 |00649| 001 |0/0294 | 0,01
DIN125 M12 13 | 24 | 25 000565 | 0,01
Dint  Dext e i304
mm mm mm ESETN REE kgud
DINS021 M6 64 | 18 16 | 2m003] 001 | 27022 001
DINS021 M8 84 | 25 2 |27001] 001 | 0/0298| 001

O

1SO 7380
DIN 933

JAmAL

21

BASORFIX



BASORFIX

BASORFIX

dib

SE_Dbasor

BELECTRIC

CCM
M L Qtrac
g TN .
CCM M6X60 6 60 180 26419 | 0,03
CCM M8X60 8 60 | 225 | 26420 | 004
| 65mm, @ 8mm (CCM 6X60) / @10mm (CCM 8x60)
SCM
D L Qtrac “
moon g TN @m
SCM M10X75 10 75 340 | 2/4672 | 0,05 -
SCM M12X80 12 | 8 | 780 | 26258 | 008

| 62mm (SCM 10x75) - | 72mm (SCM 12¢80), @ 10mm (SCM 10X75) / @12mm — (SCM 12x80)

CM

mm
CM M6X30 8
CM M8X30 10

Qtrac EZ

O REE | g |
280 | 206468 | 001
370 | 26469 | 001

| 32mm - @ 8mm (CM 6x30) /| 33mm - @ 10mm (CM8x30)

30

22



BASORFIX

N

TT/TIL
Smin  Smax Dcable A B LTN
mm*>  mm? mm  mm  mm REF. kg/ud
7 10-35 - 3 | 4a8| 22 | 18 | 2/679% | 0,04
1T 35-95 - 9 |8al3| 30 | 24 | 2/6797 | 0,07

4a8 | 25

10

2/8189 | 0,03

TTL 10-35 35

. Dasor

BELECTARIC

30

T

TTL

23

BASORFIX



BASORFIX

BASORFIX

™

FPS

FPSC

FPSL

FPSC
FPSL

216794
216795

S&. Basor
0,06 =
0,03

S
®
wn

70

I
30

FPSL

24




